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dife qfEnm ¥ emrE, T A T SedE A 2y e § 3 Uedw WA R e | T T A
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This question paper contains FOUR sections and you have to answer all questions in the OMR
answer sheet. Section "A" Mathematics contains 50 questions of 3 marks each, Section "B" GK,
‘C' Language and 'D Intelligence contains 25 questions of 2 marks each respectively. Section C
is language specific and is to be attempted in the chosen language.

2 e WaeT T A U B W8 Tk | WEde uee & Scad & T e e e 51 | T7E 39

U § STET 9TE S $RT &Y 3 &7 Sead et A A |

There is only one correct answer for each question. Darken only one bubble for each question.
If you darken more than one bubble, your answer will be treated as wrong.

3, FITHIR (OMR) Feait Qe S5t & aamy st ey | Fmated! axe g% oot e
% o I Tedr et o are AT 3 Ieer qiv H AIS Al AT SHET ST ey S |
Evaluation of OMR answer sheet will be done on a computer. Be careful and ensure no un-

necessary marks on the OMR answer sheet/ fold or attempt ta deface the OMR answer sheet,
otherwise it will not be evaluated.

4. T T TRt O & WY Wt el qest 3 @ Y, 7 5 ey G A
Rough work must be done on the additional sheet only and NOT on OMR answer sheet.

5 3T ST T AT vl Ty ard O A & o1t | AT &y

Write your answers in Blue/Black ink anly. Do not use pencil.

6. mwﬁfﬁmﬂ.sﬁmﬁw#rﬁr 329est |
There are total 32 pages in the question paper.
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ST & AT o o AT 3 Hiex 20 FdHET F93r 3R 3T gaed & AU 2 Al 5
HEHreT e wieT| 39E g @l U F93 A Fd da@rg 7w HiFv

Naveen bought 3 m 20 cm cloth for his shirt and 2 m & cm cloth for his trousers.
Find the total length of cloth bought by him.

(@) 5.7m (b) 5.25m (c) 4.25m (d) 5.00m
3, 4 31X O & FF { FH THAEY UGS (T.H0H) 3

The least common multiple of 3, 4 and 9 is

{a) 36 (b) 12 {c) 27 (d) 45

s AR 5 G A 240 Rl / gy & 7fa A v Afua g s A ¥ FAE gl
1 1 = et et At 36 o, S e aTfey 2 e e 2

An aeroplane covers a certain distance at a speed of 240 km/h in 5 hours. To
cover the same distance in 1 f—'; hours, it must travel at a speed of ?

(a) 300km/h (b) 360km/h (c) B00km/h (d) 720km/h

A 16 AT & ) fav e weEt § 6w 9 ¢ Ror awar g i B 12 RET F 9l
A FT THaT &1 'C' F Aeg & Ieeie 4 B H & Fr 9 T B C e
FARA A FH FT HEFAaT & ?

‘A’ can lay railway track between two given stations in 16 days and 'B' can do the
same job in 12 days. With the help of 'C', they did the job in 4 days cnly. Then,

'C' alone can do the job in how many days ?

1 2 3 1
{a)gg days (b)gg days {c]gg days (d}'}g days

ImHfa &, 3 & 3 P & dem & Qe g f

& HEIT T I AT P T
In the figure, find the ratio of Number of triangles to the
number of circles inside the rectangle and Number of
sguares to all the figures inside the rectangle.

4 3 2 22
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TH, TEd 3R Dfed 7 IoUR 1 va o s R 3973 272 g &) Sl & 3

AT ¥ § WIS A & are Rrere? veuy &1 o Bz ar?
Ram, Rahul and Rohit shared a bag of marbles. The bag contained 272 marbles.
How many marbles were left over after the friends shared them equally?

(a) 90 (b) 91 (c)6 (d)2

4 Z3T+T 3ot A1 FT 60 T &1 12.50 T F Fraet e @i o T B2

Cost of 4 dozens of bananas is Rs 60. How many bananas can be purchased for
Rs 12.507

(a) 10 (b) 15 (c) 12 (d)18

U FETT H 16 w1 &1 AT Tote 50.25 FFatans & 3T 9w 8 F=a1 &7 9517 45.15

forcirama §1 e & el st & 3 a9ts 1 gar Fand|
The average weight of 16 boys in a class is 50.25 kg and that of the remaining 8
boys is 45.15 kg. Find the average weight of all the boys in the class.

(a) 47.55kg (b) 48kg (c) 48.55kg (d) 49.25kg

HI[ U HRIATEHR O & 9Rt AR Stech ¥ G fr dard 35 fev s ol 20 &
£1 #g 30 Hex F &t u # ledh 81 w7 7 g a7 Fh ¥ IR A

EART, PR A4 TS AH ¢ IR AT A3 W hr g A & v &
Manju runs around a rectangular park of length 35m and breadth 20m. Meenu

runs around a square park of side 30m. Who covers less distance and by how
much, if Meenu takes 4 rounds and Manju takes 3 rounds completely.

(a) Meenu, 150m  (b) Manju,120m (c) Manju,150m (d) Meenu,120m

wﬁﬂﬁwwa@pxmﬁtmﬁwﬁwwﬁmmﬁmh
Aafaf@a & @ st ar e v 1 gsnfRa srer 7

A photo frame is in the shape of a quadrilateral with one diagonal longer than the
other. Which of the following is the possible shape of the photo frame?

(a) Square (b) Rectangle
(c) Rhombus (d) Nene of these
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T AT G AR 3R 30 sean e #1 3eur gAR e ¥

The product of a non-zero whole number and its successor is always:

(a) Divisible by 3 (b) An odd number
(c) A prime number {d) An even number

U R 5 AT A 9% Y &7 B T 4016.25 FT WURVT =TS T ¥, A AT E?

A sum fetched a total simple interest of Rs. 4016.25 at the rate of 9 % in 5 years.
What is the sum?

(a) Rs.4462 (b) Rs.8032 (c) Rs.8900 (d) Rs.8925

ST FHT ATH 6 "ot Emrar &, ar udy F gt & i & #vor @ Any

Find the angle measure between the hands of the clock when time shows 6 PM

(a) 90° (b)45° (c)180° (d)270°

6 Wl Y U FYF F AT T P
Find the volume of a cube of side 6cm

(a) 216cm® (b) 36cm* (c) 72cm?® (d) 108em’®
T 3 COXXXIX &7 andts afw o fiffn-
Write Roman numeral CDXXXIX in Arabic numeral

(a) 439 (b) 449 (c) 529 (d) 539

& HEATHT T TG 1296 ¥ AR v HEwr gud & 16 I &) o e A
EUE

The product of two numbers is 1296. If one number is 16 times the other, find the
smaller number.

(a) 12 (b)16 (c)4 (d)9
T& 10T &0 ATT 60 °a:r%§| §Hh e VT AT ATT F4T &7

The measure of an angle is% of 60°. What is the measure of its complementary
angle?

(a) 30° (b) 60° (c) 45° (d) 20°

*

£ SR
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5 675 3T 1.327 ¥ 7T & 8.362 3iY 7.942 F AT FI g0
Subtract the difference of B.362 and 7.942 from the sum of 5.675 and 1.327

(a) 6.582 (b) 4.348 (c) 3.982 (d) 4.384
| cm 4¢cm
3’,'fi:|ﬂ- e sirer fere : w g |1 cm
Find the perimeter of the figure: e O Iom
aem| |2 ™| |B
(a) 51 cm 2em| &t _3cm
(b) 52 cm : =
Jeom 8 A
(c) 53 em 3 o4 £
| )
(d) 54 cm I em[_ T e
4 cm I em

m45nﬁnﬂ#ﬁvﬁmﬂmmmmﬁqﬁaﬁ4.s%#ﬁﬁ

A F g H T 81ge & A

How much time will it take for an amount of Rs. 450 to -,rleld Rs. 81 as interest at
4 5% per annum of simple interest?

(a) 3 years (b) 4 years (c) 6 years (d) 5 years
v Fror &, A gE Hor g Hor ¥ 2 7 3R A For vg For F

3:m1§|ﬁﬂm¢m‘mm£|ﬁ?m[

In a triangle, |f the second angle is 2 times the first angle and the third angleis 3
times the first angle, find the angles of the triangle.

(a) 30°, 60°, a0° (b) 15°, 30%, 45° (c) 45°, 45°, 90° (d) 20°, 40°, 120°
s et 7 YT 616 9 2§ e e e A (1= 3)
The area of a circle is 616cm®. Find its diameter.

(a) 28em (b) 14cm (c) B6cm {d) 32cm
5 53.016 1 24 ¥ AT & &1 HETHA A FTAT
Find the quotient when 53 016 is divided by 24.

(a) 2.29 (b) 2.209 (c)2.292 (d) 2.029
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29. 60 #ex sarg 3w 3 Frex Oz F UF AATER ART 25 AH & F9F TR AR Fal

vy orar ¥ 39 9U S a9 & e suaer £ siet ardr agat & g A fifae?
A'rectangular path of 60m length and 3m width is covered by square tiles of side
25cm, Find the number of tiles used to make this path?

(a) 2250 (b) 1440 (c) 2880 (d) 1200

30, 475 + 950 FT 64 % = 900 + A, #H A F TUH 9T FF O e @9 2
What is the value of A in 475+ 64% of 950 =900 + A

(@) 183 (b) 233 (c) 1983  (d) None of the above/ 33 & #Ig LT

31 216,288 TUT 720 T Adcad FHANGTF F4T 21T ?
What will be HCF of 216, 288 and 720?

(@ 12 (b) 24 (c) 84 (d) 72

32, @i @t (106 X 106 - 94 x 94) = ?
Solve (106 X 106 — 94 X 94) = ?
(@) 2400 (b) 2000 (c) 1904 (d) 1906

33. TRl @& A & 600 ¥ 70% F ar e vt w320 wied @ &, a%
wEar e & 7 |
if % of 70% of 600 when subtracted from a number is 320, what is the number ?
(@) 300 (b) 600 (c) 720 (d) 500

34, TS AP Rs. 15007 @i Rs. 165uﬁﬂmwmﬁ'mr-rmﬁ:m%?

A mobile phone is sold for Rs. 1650 after purchasing it for Rs. 15800. What is the
percentage of profit ?

(@ 10 (b) 15 (c) 20 (d) 16
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W#Wtﬁ%gﬂzsﬂaﬂﬁﬁwﬁmﬁﬁﬂmmw o
S ZEY ek & oo & iR A & FES 22 3w urd fRU | gEy TEA
g Prerer wfaera 3fle 3w wied fae 2

In the first test of mathematics a student gets 18 mérks out of 25. In the second

test of same weightage he got 22 marks. What percentage of marks did he get
more in the second test 7

(a) 4% (b) 8% (c) 16% (d) None of the above

2uw?rumﬂa:rm?r13%w?a$qﬁmmﬁﬁ3mmmmﬂ1
g ?

Average of 20 results is 18. If 3 is subtracted from each result, then what will be
the new average?

(@) 21 (b) 15 (c) 16 (d) 17
723
F37%
JIA W_} Solve 2
2+1%
3
33
@ = ®) 5 @ @3

59 90.0675 &r 15 & ST T SAT &, At HEee §
1f 90.0675 is divided by 15, then quotient is:

(@) 6.0045 (b) 6.0450 (c) 60.0450 (d) 0.6045

2 HE # Proa s @A 8 ?
How many seconds are there in 24 hours?

{a) 30 (b) 60 {c) 3600 (d) 86400
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VI0B9 + 121 & &1 & /Vvalueis
(a) 3 (b)Y 13 (c) 33 (d) 53

afe BT ABCH FIUT AB FUT C FART: 3x, 5x T 8x+48Y & AT @
& A AT HST

Ifangles A, B and C in a triangle ABC are 3x, 5x and 8x+4 respectively, then
find all the three angles.

(@) 33,55,92 (b) 70,75,35 (c) 90, 75,15 (d) 90,95,100

37800 T WIS IUTES FT § ?
What are Prime factors of 37800 ?

{8} Z2XZAIRINEXEANTXT
(b) 2X2X2%XIXIXNIXEXEXT
fc) Bx27X25X7

(d] 2X4X25%X27X7

(10% of 3.75 + 15% of 7.25) = emod # giafaa &Y / convert into decimal
(a) 14625 (b) 14.625 (c) 1.4652 (d) 14.652

e AT A FE 0 F G I ok AT A Yol @i @

Which sequence correctly matches these angles with their measures.

~ (i) ~ (iii) L (iv) ‘

(@ (i).(ii), (i), (i) (B) (i), (i), (i), (iv)
(€)  (iv). (i), i (i) (d) (). Civ).Gii), (i)
HUF ST HEA g, AR A Am e E, v o | fasrsw g snag |

I'am a prime number. If you subtract 2 from me, | become divisible by 7.

(a) 23 () 19 {c) 31 (cl) 23
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B

T 46 § 50 & v fwwfaf@a afesr @ st e g |
Fer questions from 46 to 50 the following table has to be consulted.

486,

47.

48.

| Name of the city Temperature at 3 AM (°C) | Temperature at 3 PM (°C)
| Chennai 21.1 299
Mumbai 19.0 e 7% |
Thiruvananthapuram | . 216 ' o T
' Kolkata f 13.1 I 45TT
' Bhopal 9.8 . 259
' Stinagar 13 z B
Guwahati 128 ;| <DH8
Jaipur 10.2 23.2

T T OX e 3 a9t STaaH T o |

Which place had the highest temperature at 3 AM ?

(a) Chennai (b)  Thiruvananthapuram
(c)  Srinagar (d)  Jaipur

a9 3 gt pler HY STE Taw S Y |

Which place is the coolest at 3 PM ?

(@) Kolkata (b)  Srinagar

(c) Mumbai (d)  Bhopal

ﬁmaaﬁ.gaé#mamﬁ s 2

How much highér Is the temperature in Mumbai from that of Srinagar 2t 3 PM ?
@ Bl (b)) 351 () 27 () 29
Wﬁuommﬂﬁuﬁaﬁtmaﬁmﬂmwm
AT B |

How many degrees will the temperature at 3 AM need to iise (or it to
reach 40 degree celsius in Thiruvananthapuram

@ 65 (b 184 (c) 216 (d) 335
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AT GAG Yot | FIEIT F AIAR Bl FH 8 (3 99 qaES @ 3w
How much lower is the temperature of Kolkata from that in Chennai at both
times (3 AM and 3 PM) ?

(@ 8%and33° (b) 3%andB®

(¢0 8%and8?® (d 233%and3.3°

HIT ‘W’ - §HATT AT
~ SECTION B - GENERAL KNOWLEDGE

FTer g & w9 sfr ST ST &2

(2) TR gy - - (b) =rer g

(c) Aexrge Mgy - (d) A3 Fiaw

Black soil is also known as?

(a) Regur Sail (b) Red Soil

{c) Laterite”Sail (d) Mountain Sail
o 4 ey for ey A S 82

(@) dsfesr - (b) e

() FTaE . ¢ (d)EER

PV Sindhu is ﬁsamiated with which sports ?

(a) Badminton (b)  Cricket

(c)  Football (d)  Hockey

T TR & HATYET Froensy ) 2@ Pl Fl &
(a) HTSTHETEY (b) THETHRIT

(c) #rars (d) 5HL

The Space Programme of Govt of India is looked after by
(@) I1SBT (b) NTRO

(¢} NABARD - (d) ISRO

ArEET A ufidrer e 49w g

(@) |aEH ' (b) WETHE!

(c) Tt (d) EIT

Bhakranangal Project is built on the river 7

(a) Sutlej - (b}  Mahanadi

(c) Godavari (d) Cauvery
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e ma & e gEe & ® v F e e -
(a) TERT & YTE (b) WeTeET TWeR
(c) WEH TeoTwWs @& (d) |UW Fg Y
Who is known as a ‘Iron Man' of India ?

(@)  Jawahar Lal Nehru (b)  Mahatma Gandhi
(c)  Sardar Vallabhai Patel (d)  Subhash Chandra Bose

2feyor e S e ol w2

(a) Werdr (b) fery

(c) wTE=HT (d) TiremEid

The longest river in South India is ?

(@) Mahanadi (b)  Indus

(c) Saraswathi ({d) Godavari

B e =t gaw F A & w-wm T o & ww § wEr s
(a) ¥ wE (b) FFUT
(©) TuTT (d) et

Which planet is known as a morning star as well as evening star 7
(a) Mars (b) Venus (c) Mercury (d) Earth

HRUE H FE ey W R F /e w5 ST v we

(a) 3merE 23 (b) amerE %3

(c) &= 2w (d) smerE vy

Which Article of constitution provides Indian Citizen ‘Right to Equality’?
(a) Article 12 (b)  Aricle 13

(c) Article 17 (d) Article 14

T T T HWET B T R -

(a) wETE (b) afdwTE

(c) T wewm (d) wfem gmer

‘Narora' nuclear power plant is located in the state of 7

(@)  Maharashtra (b)  Tamil Nadu

(c) Uttar Pradesh (d)  West Bengal
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ater it Aot ot sitrer 31 e 2 theret ¥

(a) AR (b) gat () 91 d BRm
Which of the following diseases spreads through contaminated food and water?
(@ Malaria (b) Cholera (c) Dengue (d) Filaria

S gfar =i T = e -

(@) =R Fam (b) 3 TELH

(c) wemw i (d) i Yirearr

Which is biggest desert in the World?

(a)  Kalhari Desert (b)  Atakama Desert

{c) Sahara Desert (d)  Gobi Desert

HAH © T 3 S T ¥ Rm e

(@) srET (b) erEuTEeT wRE

(c) FRuras wew (d) st wadmr

Manas national park is located in the state of ?

(@) Assam . (b)  Arunachal Pradesh
(¢)  Himachal Pradesh (d)  Andhra Pradesh
gt ¥ @i T2} & qgar 2

(a) 3ne (b) 37ETF (c) =T (d) aFtsFg
Which of these grows from the roots?

(a) Potatc  (b) Ginger (c) Carrot  (d) Sweet Potato
HAET T 29 'Y # o e e e :

(@) erEet (b) ufdw e

() framt (d) wdf e

Sahyadris is also known as ?

(@ Aravali (b) Western Ghats

{c¢) Himadri (d) Eastern Ghats

7§ # AteA F et F sy o

The gas filled in a weather balloons is

(a) Pt/ Neon  (b) @178/ Helium () 3m=/ Argon (d) 3fTFSi=1/ Oxygen
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gz Fedl & JF HETFar g
Growing children need more of
(a) rafgrsse/ Carbohydrates
(b)y Fafds/ vitamins
(c) W&/ Proteins
(d) @@/ Fats
offeter U 3 gama # e 9t 3 g e @7

Which gas is dissolved under pressure in soft drinks?
{a)  3TerdT=iA / Oxygen (b)  Frae sTE3iTFETES / Carbon dioxide
(c) #AT=ErSTe / Nitrogen (d) &=t / Hydrogen

SR A FEH FH T ATl SR arg W1 & AL F FAT FET AT 87
Who is the lowest ranked Air Force Officer among these? [

(a)  f&er AT Wing Commander
(b) [T &rea /Group Captain

(c)  wergar HifFEY Flying officer
(d) welEE Afesiz/ Flight lieutenant

fFraam@d & @ i a1 sy g e
Which of the following is a national festival?

(a)  &urEl /Baisakhi

(b) FoTET Baw /Republic day
(c) dierer /Pongal

(d) && ga/Chhath puja

31 A ¥ A 5w &7 & Fad [EAR Sfar?
Dr. Amartya Sen won Nobel Prize in which field?

(a) ¥AEF /Economics
(b) enfd /Peace

(c)  TETES fAFAE/Chemistry
(d) @rfgcaiLiterature
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el 4a 3R afEol ga & @ & gAfSad orea i ar wer Sare ?

The imaginary line drawn half way between North Pole and South Pole is called
(a) e 3@T /Tropic of Cancer

(b)  Teor ${FHCT T@M /Equator

(c)  3mehfed Wehal/Arctic Circle

(d)  JHerwfew whalAntarctic Circle

afer i wed A g §

The largest Island in the world is
(a)  3irEEfAuT /Australia

(b)  FgSirets /New Zealand

(c) I=es/Greenland

(d)  #Hrenfas/Mozambique

gferar &1 waw s37 v, aftyor & @l A

The coldest place in world, lying in the south frigid zone is
(a) N=els /Greenland

(b)  ICIERTEE /Antarctica

(¢)  3irEEferar/Australia
(d) #gafels /New Zealand

P¢lst W SENEIe w1 3nfase fhae fRar?

Who invented telephone in 18767

(a) UElTSlET aNEH o /Alexander Graham Bell

(b)  SiFH ReRT lJames Hickey

(¢) FfFEUEHAT #HieT /Guglielmo Macron

(d) @rfr &/Logie Baird .

Y AT die e Peefae § R e a2

'‘Ghoomar’ is a popular folk dance of which of the following states?
(a) TorEUTs /Rajasthan

(b)  HEF UL2A/Madhya Pradesh

© (c)  33rAT [Orissa

(d)  3caT 9&ew /Uttar Pradesh
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HET T - {0
SECTION C — LANGUAGE
(Only for those attempting English Language)

Read the following passage and answer the questions (Questions 76 to 80)

Midas, the king, was a greedy person. He loved gold more than anything in
world. He had lots of wealth but he was never really a happy person. .

One day God Bacchus came to Midas. Midas had once helped god Bacchus a
in return Bacchus offered him a gift. “What shall | give you to make you happy,"Gos
asked him. Midas thought for a while and then said, “Please give me the power to tu
everything | touch into gold." Bacchus laughed and said, “Your wish is granted. As sool
as the Sun rises tomorrow, you will have the golden touch.”

The next morning Midas woke up, and he had his golden touch. He touched h
bed, the chairs, doors, windows and all bacame gold.

Suddenly, he felt very hungry. He sat at the table but as soon as the fo
touched his lips, it turned into gold. So did the water. It seemed he could no longer &
or drink. After some time, his daughter came to him. When he put his hand on her,
became a gold statue. In the end, Midas became very sad and prayed God Bacchus
take away the golden touch from him.

76.  What kind of man was Midas?
(a) a greedy person (b) a great miser (c) a brave man (d) wise ma

77. Who came to Midas ane day?
{a) GodJesus (b) God Bacchus (c) God Zeus (d) God

78.  Why did Bacchus offer him a gift?
(a) because he had helped God once  (b) because he had pleased Bacchus
(c) because he had annoyed Bacchus  (d) because he cared for Bacchus

79.  What was Midas' wish?

(a) To become rich (b) To turn anything into gold
(c) To turn his daughter a golden doll (d) To become powerful
80. Who turned into gold statue when Midas touched?
(a) daughter (b) sen
{c) uncle (d) aunt

Rearrange the following words/ phrases to make meaningful sentences. Cho
the correct sequence. !

81. it (a)l life is (b)/ what we (c)/ make (d)
(a) abed (b)cdab  (c)dabc  (d) beda

82. gold (a)/is not (b)/ glitters (c)/ all that (d)
(a) abed (b) cdba (c) dabc (d) dcba
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83.  playing (a)/ in the (b)/ park (c)/ children are (d)
(a) abcd {b) bcda (c) dabc (d) cdab

Fill in the blanks with the appropriate option.
84  Eitherwork hard ___ give up studies.

(a) nor (b) or (c) and (d) but
B5. Heis afraid the dog.

{a) on {b) of {c).in (d) by
86. He __ teaevery morning.

(a) drinks (b) is drinking (c) drank (d) drunk
87.  The child has been missing __ yesterday.

(a) for {b) of {c) by (d) since
Do as directed.

88. Johnismy___ brother (Find out the correct adjective)
(a) elder (b) bigger (c)old (d) young

89. Frenchis ___ easy language. (Select the correct article)
(a)a (b) an (c) the (d)none

90 Ashok __ him yesterday. (Write the correct form of the verh)
(a) meet (b)met  (c)willmeet (d) is meeting

Choose the most appropriate option.
81.  Which word means nearly the same as ‘sufficient'?
(a) infinite  (b) adequate (c) merry  (d) surplus

92.  Which word is the opposite of 'simple’
(a) complex (b)easy (c)obey (d)show

93.  Alist of books in a library
(a) monoclogue (b)dialogue (c) catalogue (d) diary

94.  Find the feminine gender of *horse'.
{a) mare (b) doe (c)ewe (d) ram
95.  Choose the word which means the opposite of ‘RISE'
(a) fall (b) smooth (c) pride (d) rash

96.  Choose the word which means same as 'GRIEF".
(@) cheerful (b) sorrow (c) happy {d) injury
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97.  One who does not believe in existence of God

(a) theist (b) pacifist (c) ascetic (d) atheist
98. The match has been postponed _ it has been raining outside. (Supply
Conjunction)
(a) so (b) because (c) therefare (d) and
99, Thisistheboy parents have died. (Supply correct Pronoun)
(a) whose {(b) who (c)whom (d) his
100. He doesn't help the poor, 7 (Use Question Tag)
(a) did he (b) does he (c) doesn't he () do he
HIT 7T - T
(Fraer =Y v F witer SaEt & o)

e &t R T Rt ¥ @ oRm Ree & 9w ST
76. A FIT Grg A E

(a) FTFWE  (b) W (c) Fufig (d) ity

e e & o o Rty (Reea) & @97 S

77.

(a) T (b) |1 (c) =T (d) T
e fee or=r 3 P w@t WR-Rede (Res) = 99 fifE
78, wEaE

(a) wIE+3wT (b) UTHWHER (¢) T+THRR (d) Uoi+dan

e ffem T W v Iuwt & wdt fEew @ 9w i
79. @A

(@) & by = (c) & (d) &

ud® w3 3 amr R RAwet § & sfa fwer 3
80, e o T SH-E 3 T4 I H WAEad I @ 2
(@ Fuwr (b)HW (c) &9 (d) &t

81, -Imanr e = Fem w0 E
(a) Frdraandr (b) TEIEHTT  (c) frmdrdt  (d) st



18 Class VI - SETA

Fer arlt / W & o Ry wu Revet F & SR v 51 e @t

82. W wiEr ¥ g ar
(@) uvEE (b) swenf3m  (c) wEmES (d) wyiEHT

83. W A T & e vl & Prefaita e/t o et w1 . feer §
fw e wdt e @ uwT F Y
=T /W FEE / AE-gae
A B C D

y (a) DCBA (b) CDAB (c)BDAC  (d) ADCB
84. Rumu = Ft vt o+ F v Bwew #r g w1

(a) srTedt (b) @ () sfeft (d)

e wm T & o sugw e 9+

85. 3% wrral H AeFEEN ————————-
(@fm e ) agudt ) Rewd (d) wwowd

y3 & it R . fewedt F F sRw feew wwm fiftg

86. fiw o & s v ey = matgardt W E 2
(@) gl (b) IErET (o) W (d) wRada

87. = W o F-w v <Fer @ waiant 17t & 2
(a) WTR (b) W (c)y¥ (d) FFT=T

Frefifea sr=da @) eargds ggaw ﬂﬂmﬁ’f @ foy wél Roe gfn( o
a8 ¥ 92) ;

ud A g i R g@R @ e—waen a8 or | 9 g Y oeeRe A 9w
aﬂ%qﬁm%ﬁﬂmmﬂ%ﬁﬁaﬁWﬂﬂm%maﬂ%mmmﬁﬁwﬁﬂﬂ

3w, 1 e, qEerE, Ao, AEE oI AEIge 4 wwR A ol @ aem @ WS @) gw
wa}wmﬁéﬂ&m frg a3 =@ ol wqw & =y 4 ve ore @9 ) od @ AW
WA A, IR 9e, FW R, w4 e o, wh o o o & 9w w g a
TR e T €| oW & 39 oud @1 Mer e anen 2 ﬁrm$uﬂwﬁ1
R & el q=if @ wew @ ufy SrreES SOE B T A W £
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88  UNH ¥ UG T AR DT A417

(a) TRIT@T (b) warff (c) Frewmaget (d) e
89 WY ¥ uRWRE dg F oA e @ ?

(@) v (b) ¥ W= A (c) wrergesl A (d) wrgait 7
90 fhe A= @ dem & oy o ey R ?

(@) =4 #gs A (b) weTgesT = (c) g¥ax = (d) or@s A
91 3 & T wel @ oS F e ?

(@) v b) o (c) == (d) et
92 AR qedl @ MEwY ® URT ANTeSaT 9o B B (AT | @ 87

(a) Fomm (b) agen (c) srwen (d) =
Frafafea e &1 ifeT w1 gfe-
93  HfY

(a) =faea (b) ®faa (c) wafiat (d) =fasit

Freifefaa & gfesir e 2
94 ‘fafdar v @1 9ggEA WY 2-
(a) R (b) ¥ (c) frt (d) fafear

95 W&l & QY ®Y B T Bifwg—
(@) o= (b) ermamaTE (c) Tr=amars (d) eTaarg

merat &1 ) aef gfie—
g6 i e .
(a) aga SowiR He  (b) TET AEX FAT (¢) 9§ WA Hen (d) 9ga e A

g7 e Ser
(a) & @& (b) ameR HEAT (c) & W= (d) & s

qraars @ o o) Reeu -
98 T o are—
(a) faremmft (b) wdigs (c) wéemreft (d) Fréeres
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103.

101.

102.

faeitn o Re—
%9 M
(@) wwrorm  (b) 3o (c) = (d) R
100 weEl B HAGHR walud wve ) Rew gFe-
) (2) (3) @)

= B/ gE-g@ o seaw [ feR o @ /7 Ref w
@) 1234 (b) 2143  (c) 2341 (d) 2413 |

ECTI D'

If CATTLE is related to HERD then SHEEP is related to___.
CATTLE &7 & 569 HERD & & 81% 38 u=¥ SHEEP &1 ¥Hay & [Ty grem|

CATTLE : HERD : SHEEP : 7

(a) FLOCK ~(b) SWARM
(c) SHOAL (d) MOB

Choose the alternative that has the same relationship to 09 as 07 has with 56
A & ol wEa smen & 07 e # oS Tay 56 & @ £, &% I & wER w 09
dear ¥ Bv P e W By ov Rt & w9 @ g arar Rewew g |

07 : 56 09 :?

(@) 54 (b) 81 © 72 (dy 99

Choose the alternative that will continue the number series below:-
23 Rwey 9 S A & Il dEE e @ O Y|

5, 11, 17, 23,'¢

@ 31 (b)) 29 (cp 28 d) 35
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104. If you fold the transparent paper along the -UOIIB'I:‘J line in Figure "J(' which
alternative figure from A, B, C and D would you get?
e greeff 4T 97 &l X' mﬁﬁﬁ@m#mwwma&wmmmw
| | w5® A, B, C aurD wm il ?

X (a) & th) B (c) € @ D

105. Choose the word wiiict is least like the other wiords in the group.
3 A @ Ry S aul wsd & wE er it w |

(@ BAKE () PEEL " (o "ERY | (@) ROAST

106. Which of the following diagrams indicate the best ralation between India, Hagyana and
World? _
- mmmm#ﬂaﬂﬂmﬁham:—nmwrrammmaﬂﬁimﬂmma'm%?

©o B 69 @ 5

(a) (b) (©) (g

107. Choose the word which is least like the other words in the group.
g we F TR S gEY el & Wi § AQ a6 @ |

@ VIRGO (b) PISCES () CANCER (d) ORION

108. If STATEMENT is coded as TNEMETATS then POLITICAL will be coded as
3t STATEMENT #1 TNEMETATS fovar sman € o POLITICAL | &5 Fwrzn ?

(@ LACITILOP (b) LCATILIOP (c) OPILITACL (@ LACITIPOL




109

110.

111,

2

23 Class VI -SETA

Figure 'X' is embedded in any one of the four alternative figures A, B, C or D.
Find the alternative which contains figure ‘X' as ils part.

A faw are fawedt A, B, € 3fit D 3t @ Rl v Rmew & s X' gl R g k|
34 fawey @ gfew et X st Bl v s o g E |

|

AN

X ST A (b) B (c) C (d) D

BT ¢ I |

faae & 4

S T
* e g

If 'A" means add, 'B' means subtract, 'C' means mulliply and *D! means divide,
then what would be the answer of the equation?

IfE ‘A*F STH HET ST, B A G HA FIY, C'F IV AT S, qUT D FH HAT
AT FTC, 7 < &y 7l FHAFT0T & Iea F41 g7

15D5C2A3=
@ 13 L 11 € 03 (d) 09

Five men A, B, C, D and E read a newspaper, The one who reads first gives
it to C. The one who reads last had taken from A. E was not the first or last
to read. There were two readers between B and A. Who read the newspaper
last?

uig s A, B, C,D 3T E vs ¥mew ug W ¥ 3 uady vgdr Irgen wear § ag C @
IEER & &A1 B W WEW 3T A 9 3 A I HEER S E A s uE A u
st o € wad 3 M B 3k A & dftg F &) wiaw A wed FHa 37 sman e ae?

(a) A mhy B (c) 65 (d) D

Choose the alternative that has the same relationship to 16 as 12 has with 168.
Ard & ol dEmEer 12 e w1 S HEw 168 & ar E S 30 & anun 9 16
e & v v ov B o feeeat o & ot A s aer Reess g ?

12:168 = 16:7

fa) 232 (b) 256 (€ 224 (d)y 208
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If you fold the transparent paper along the dotted line Figure ‘X’ which
alternative figure would you get?

afe gl A oy X R @ feg W & sum 9w Aer o & o Re e e
fawes 3y & o gult ?

i
']

e P

X (a) (b () @

If in a certain code DEAF is written as 3587 and FILE is written as 7465 then
IDEAL will be written as?

3 DEAF &t 3587 for@n s & 3% FILE 7 7465 for@m Siam & @@ IDEAL &%
for@r smeam?

(a) 43568 (b) 43586 (c) 63548 (d) 48536

Choose the word which is least like the other words in the group.
30 = 9 S gEY vt F op ¥ A9 A6 @ |
(a) PLASTIC (b) WOOL (c) PAPER (d) WOQD

If we arrange the given words in alphabetical order, which word would come at
last place, choose the correct alternative?

3R faw v et @Y SAST AR & FH F IFEH WA FAC & @ e ad
U 9T JMUaT?

(a) ROBBER  (b) RANDOM (c) RESTRICT (d) RESTAURANT

Choose the alternative that will continue the number series below:-
35 ReeT & g S A & ol FEar Awer a qof =

11. 13, 17, 19, 23, 25, 7
(a) 27 (b) 29 (@ 31 (d) 33

Choose the correct alterative that has the same relation to BMJ as HSY is to
EPV _
30 f@weT # 9 rae af 9w BMJ @ ¥ S @ HSY =1 EPV 7 &
BMJ : 7 : : EPV: HSY
{a) DRM (b) YJG () EPM (d) EON
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Which of the following diagrams indicates the best relation between Flower,

Lotus and Rose?
At fere are R 31 9 Fiber 1 o o, e Sfi Ao ¥ Hew o Ieae w9 A erfarg 7

£

ﬁ*._"'i [,;,}} @ O lﬂ) O 8

S

(a) (b) () (d)

Choose the alternative that has the same relationship to 11 as 49 has with 07

Y & IR HEATHET 7 07 HEAT 1 S Ay 49 Fary ¥, Stk 360 F 3R 9w 1 |

e & fav ' v ¥ RBw o Rwedt & @ sl o dear arer Rsea g 2
D7 : 49 :11 : 7

(@) 111 (b) 90 (c) 81 (dy 121

Choose the word which is least like the other words in the group.

34 = F IR S gl el & wap & A9 a1 @ |

(@ GREEN  (b) PINK (c) INDIGO  (d) VIOLET

If X is the brother of the son of Y's son, how is X related to Y?
XY FRFEFTELE DTN FTY FFmEEa L ?
(a) Son (b) Brother (c) Grandson (d) Cousin

Area of rectangle is 48m’.If the length is 6 m then breadth =

Hmramr&%mwaa%;na?m%mmésma?mmﬂrﬂ__?l
(a) 13 m (by 6 m (c) 10 m (d) 8m

The priest told the devotee, “The temple bell is rung at regular intervals of 45 minutes.
The last bell was rung 5 minutes ago. The next bell is due to be rung at 7:45 AM” At
what time did the priest give this information to the devotee?

qorlys s A e “FRT # oudr 45 Pew & Tufe s o aemh o ¥, Rod
98 4 Pee T ao R A, SRd 8 gEE ¥ v w9 oA aerh SR, gond &
7E gaer e o § 2

(a) 7:00 AM (b) 7:05 AM (c) 6:55 AM (d) 7:40 AM






